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A. Lanquage Functions
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M 1. Supply the missing parts in the following dialogue: N
= 3
Y Tom: Hello, Ali. v
& Ali: Hello, Tom. &
N Tom: Where do you live? N
&5 Ali: &85
v v
H Tom: ettt s s e ettt et D 2
SoN SN

Ali: I stay with my family.
Tom: Is there a river in Egypt?
Tom: Do you like your country?
Ali: Yes, I like it.
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B. Vocabulary & Structure
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2. Underline The correct word (s) in brackets:
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1.1 have a long coat with two (pockets - woods - puddles - streams).
2. What (do - does - will - are) you do next week? | will paint the
house.

3. When it rains, my little sister likes to splash in the (puddles -
woods - mirrors - pockets).

4.I'm busy now, (am | - aren'tl-do | - am not 1)?

5.If you don’t have a (camp - wood - tent - map) in the forest, you
may get lost easily.

6. The ship was (lost - native - rich - tall) after a horrible storm.
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N 7. If you do your homework, | (Il - am - was - won't) take you to the )
"? park. é.%;
M 8.0ur uncle lives in a big (house - owl - mouth -cloud). It has got A
N many rooms. v
& 9. Have you ever (going- go —went—gone) to America? &
‘Z_ 10. The boy used a (knife - rope - puddle - garbage) to climb the tree ‘Z_

to pick up apples.
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W 4.They have played football in the street. ( never) ™
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C. Reading Comprehension
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4. Read the following passage, and answer the questions below:
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The forests of the world are important to man's life. Trees
are planted to take carbon dioxide and give out oxygen. This is
the magic source of oxygen we need. People cut the forests to
use them in building houses, making furniture or making paper. If
we continue to destroy the forests, we will not only finish the wood
but much more important would happen as well. We will change
the earth into a dead planet. Many countries are planting new
forests now. But as the trees grow very slowly, a long time will
pass before they can replace the destroyed forests.
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A. Answer the following questions:
1) Why do people plant trees?
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2) How do trees grow?
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B. Choose the correct answer from a, b, c or d:
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4. The underlined word "them" refers 10 ..o veoveeceeeee.
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a) forests b) people c) houses d) planets
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D. The Reader
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& 5. A) Answer the following questions: &
v A
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1.Who was Ram Dass?
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: A
& E

> <
> <

L R
& -

M B) Complete the following sentences: N
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v E. Writing v
é 6. Write a paragraph of Five (5) sentences describing the picture: é}

X Guiding Words: X
& R

(take a nap - fish - talk - write - pets - sunny)
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& 7.Rearrange the following sentences: &
\/ \/
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1.Supply the missing parts in the following dialoque:
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N Tom: Hello, Ali. M
& Ali: Hello, Tom. o
A Tom: Where do you live? A
<3 =3

Ali: I live in Egypt.

Tom: Who do you stay with?
Ali: T stay with my family.
Tom: Is there a river in Egypt?
Ali: Yes, there is.

Tom: Do you like your country?
Ali: Yes, I like it.
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2. Underline The correct word (s) in brackets:

M 1.pockets 2. will 3. puddles 4. aren't | 5. map N
< 6. lost 7. 8. house 9. gone 10. rope &
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3.Rewrite the following sentences using word (s) in brackets:

e
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1. When does he visit his grandma?
2. Next month, Jack will go to Spain.
3. What has your mother just done?
4. They have never played football in the street.
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4.Read the following and answer the questions below:
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A) Answer the following questions:
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é», 1. Trees are planted to take carbon dioxide and give out oxygen. &
M 2. Trees grow very slowly. N
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B) Choose the correct answer:

> <

> <

(% A
533 537

M 3. b.important 4. a. forests N
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K 1. Hewas an Indian lascar. 2]
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= 2. Because he had no family. =
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Y 3. afraid 4. angry Y
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X 6. Write a paragraph of Five (5) sentences describing the picture: X
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(Answers may vary)
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N 1. My brother doesn’t usually hang up his clothes. )
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o =
s )
\{ \{
A A
& &
v v
» »
& &
\{ \{
A A
& &

> <

e
%’! > <

e
)

e
> <
e
s <

\{ \{
A A
(L (A
S %
\{ \{
A A
(LA (A
& 5%
\{ \{
A A
(A (R
555 -

<
<

<85> <8h> <85> <85> 28> <8h> <8> <85> <8h> <8h> <85> < 8h> <8h> < 8> <85> <8h> <85>



<8h> <8h> <85> <85> 28> <8h> <85> <85> <8h> <85> < 8> < 8h> <8h> < 8> < 8> <8h> <85>

A A
X Junior 4 X
& &

v \{
A A
G INQAIIICT, ssssssssnsnsnsnnnnnnnnnnnnnnnnnnnnnnnn A
& "

Nl  UldOS.:. ciiiiesssssssnssnsssnnnnnnnnnnnnnnns v
¢£» ¢£-
'f Quiz (A.L) X
é-“'sf 1. Supply the missing parts in the following dialoque: (3 m) é-“'sf
g% Ann : Nice to meet you, Hana. é}
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Hana: Me, too.

v,

e
%’! > <

N Ann : What will you do next weekend ? N
& s
) . )
X Hana @ oo X
& Ann: How will you travel to Port Said ? &

v v
A ------------------------------------------------------------ A
& 3

AN s ?
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Hana: | will go there with my family.

) v
: A
*-? 2.Underline The correct word (s) in brackets:(4 m) g",’;
é& 1. | can see myself while combing my hair in the (garbage - rope - é}

N rainwater- mirror). )
*-3’ 2. The mouse (ran out of - lost - ran away -made) from a big cat. *’3’
&% 3. He (enjoys - will enjoy - enjoy -won't enjoy) his time if the é%

Y weather is fine. Y
& 4.The girls are tidy, (do they — aren't they — don't they - are they)? &
N 3.Rewrite the following sentences using word (s) in brackets: X
& (3m) &
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1. The boys are playing basketball now. (sometimes)
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‘z_ 1. Supply the missing parts in the following dialogue: (3 m) ‘z‘
%f Ann : Nice to meet you, Hana. %?
g",? Hana: Me, too. g",?
§§ Ann : What will you do next weekend ? é}
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Hana : | will travel to Port Said.

e
S9!

Ann : How will you travel to Port Said ?

e
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Hana: By car./ By bus.
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Ann : Who will you go there with?
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Hana: | will go there with my family.
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2.Underline The correct word (s) in brackets:
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1. | can see myself while combing my hair in the (garbage - rope -
rainwater- mirror).

2. The mouse (ran out of - lost - ran_ away -made) from a big cat.
3. He (enjoys - will enjoy - enjoy -won't enjoy) his time if the
weather is fine.

4.The girls are tidy, (do they — aren't they — don't they - are they)?
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3.Rewrite the following sentences using word (s) in brackets:
1. The boys sometimes play basketball.

e
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Y 2.Tonight, the children will watch TV. Y
&5 &
gy 3- Where has your father stayed? Iy
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